1389

DRIVERS

MHDA MHDAW

195
: lgg P Al
e -
S I

20

50:£0.05 60002

43+04 .. 2— $13—020(E9)

MHDFCDA MHDFCDB
220 220
4= 418 175 25 4— 418 175 25
S8 = e |‘ | =
= i~ T T
© ] T O © ) T O
2l ] o = 3w 4 N ol Y
=8¢ H—FtH—1=— g8 T+ 1=
210 [ O 210 [ O
75401 60+0.05 75+01 60005
2— ¢ 13—020(E9) 2— $13—020(E9)
ERd | o 0 &
T
8 ,8 === =
‘ 30 (3]
75201 |_45 | (355000 75+01_| 45 38
168 230
* This drawing shows the right side,
The left side is symmetric to this drawing.
W Components list
No. Name Qty. | Material & remarks
@ [Base 1 |Equivalent to FCD600
@ |Driving plate 1 [SS400
® |Cam block 1 [S45C HRC50~
@ |Hexagon socket head cap bolt 2 |[M10X30 M Comparison list of link units and drivers
(® |Hexagon socket head cap bolt 2 |M8X75 Link units Drivers
® |Spring washer 2 |For M10 MSHU MPHU45 MPHU55 MHDFCDA
@ |[Spring washer 2 |For M8 MCHU MHDFCDB
¥ -
w Catalog No. L RL oter L CRabo No. [[ L [—[Rn ]
MHDFCDA 25 — L
MHDA
112.5 MHDB
MHDC m Days to Ship
10
MHDAW 15
1245 MHDCW 20 R-L P Price
25
142 MHDFCDA
MHDFCDB

! ; ; ;
e ——— e I S S
= TET e ¥
-1k ° @ i
@ % 2@®
L] 30° \O
50+005| 45 | |35.8] DOV
* This drawing shows the right side, 143
The left side is symmetric to this drawing.
MHDB MHDC MHDCW
195 195
el 5 190 5 190
3= 18— ¢32 150 20 150 o0 S—¢18—432
m Mm A m m &
S 1 ; ] 1 T
2 Bl [ O A Rl | ©a
R R o Rl oy R T R i i IR 72
3 N it} N
v o =
50+0.05 60+0.02 50+0.05_60+0.02
4301 2— ¢ 13—020(E9) 4304 2— ¢ 13—020(E9)
Pl ; ! ; ,
T el R RS o T SRS
T E ® ¥ T ¥ oY
- e | . ® | .
= / N\ o ~ «©
304 e q
504005 45 1338 30°
‘ 48 |
205 50+005|, 60
150.7
(®The maximum allowable load for drivers is 2000kgf.
W Components list
No. Name Qty. | Material & remarks o . . )
@ |Base 1 SS400 Comparison list of link units and drivers
@ |Driving plate 1 [SS400 Link units Drivers
(® [Cam block 1 |S45C HRC50~ MSHU MPHU45 MPHU55 MHDA
@ [Hexagon socket head cap bolt 2 |M10X30 MPHU70 MHDC
5 |Hexagon socket head cap bolt 2 |M8X55 MPHWU45 MPHWU55 MHDAW
6) |Spring washer 2 |For M10 MPHWU70 MHDCW
(@ |Spring washer 2 |For M8 MCHU MHDB

HEMMING
COMPONENTS

1390



